AMENDMENT NO. THREE TO CONTRACT NO. 34554 3 4 5 5 4

RE: Renewal No. Three of Contract No. 34554 (ITB GO17-004) for furnishing and delivering PE pipe and fittings to the City of Long Beach Energy Resources Department (BPGO17000007)

This Amendment to Contract No. 34554 is made and entered as of March 9, 2021 by and between the CITY OF LONG BEACH, a municipal corporation, and Ferguson Enterprises Inc. (Contractor)

Contract No. 34554 is amended by mutual agreement of the parties and as indicated below by a check or other mark preceding the appropriate amendment: X 1. Third renewal option extending term to March 16, 2022 X 2. \$300,000 has been added for a new amount not to exceed \$1,500,000 3. Prices during this period shall remain firm. X 4. The price for certain items shall be increased as shown on Exhibit "A", which is attached hereto and incorporated herein by this reference. 5. The price for certain items shall be decreased as shown on Exhibit "A", which is attached hereto and incorporated herein by this reference. 6. The discount offered to the City is increased by _____%. 7. The items or locations identified on Exhibit "B", which is attached hereto and incorporated herein by this reference, are hereby deleted from the Contract, 8. The items identified on Exhibit "B", which is attached hereto and incorporated herein by this reference, are hereby added to the Contract. 9. Current permits, licenses, insurance and other required information are enclosed as Addendum No. 1. Except as expressly amended above, all terms and conditions in this Contract are ratified and confirmed and remain in full force and effect. ExecuteDwith all formalities required by law as of the date first stated above. Attach Notary If Out-of-State Contractor CONTRACTOR CONTRACTOR: (Signature) (Signature) Randy Cross (Print / Type Name) (Print / Type Name) **Director Branch Management** President / Vice President / Secretary / Treasurer President / Vice President / Secretary / Treasurer (circle one) (circle one) THE CITY OF LONG BEACH: Approved as to form: City Manager CHARLES PARKIN, City Attorney **UTED PURSUANT**

GARY 1/4-MBERSON

TO SECTION 301 OF APPROVED AS TO FORK

THE CITY CHARTER

AMENDMENT NO. THREE TO CONTRACT NO. 34554

RE: Renewal No. Three of Contract No. 34554 (ITB GO17-004) for furnishing and delivering PE pipe and fittings to the City of Long Beach Energy Resources Department (BPGO17000007)

This Amendment to Contract No. 34554 is made and entered as of March 9, 2021 by and between the CITY OF LONG BEACH, a municipal corporation, and **Ferguson Enterprises Inc.** (Contractor)

Contract No. 34554 is amended by mutual agreement of the parties and as indicated below by a check or

other mark preceding the appropriate amendment: X 1. Third renewal option extending term to March 16, 2022 X 2. \$300,000 has been added for a new amount not to exceed \$1,500,000 Prices during this period shall remain firm. X 4. The price for certain items shall be increased as shown on Exhibit "A", which is attached hereto and incorporated herein by this reference. 5. The price for certain items shall be decreased as shown on Exhibit "A", which is attached hereto and incorporated herein by this reference. 6. The discount offered to the City is increased by %. 7. The items or locations identified on Exhibit "B", which is attached hereto and incorporated herein by this reference, are hereby deleted from the Contract. 8. The items identified on Exhibit "B", which is attached hereto and incorporated herein by this reference, are hereby added to the Contract. 9. Current permits, licenses, insurance and other required information are enclosed as Addendum No. 1. Except as expressly amended above, all terms and conditions in this Contract are ratified and confirmed and remain in full force and effect. Executed with all formalities required by law as of the date first stated above. Attach Notary if Out-of-State Contractor CONTRACTOR: CONTRACTOR: (Signature) (Signature) Randy Cross (Print / Type Name) (Print / Type Name) **Director Branch Management** President / Vice President / Secretary / Treasurer President / Vice President / Secretary / Treasurer (circle one) (circle one) THE CITY OF LONG BEACH: Approved as to form: City Manager CHARLES PARKIN, City Attorney

By:

Deputy

SECRETARIAL CERTIFICATE OF AUTHORIZATION

The undersigned Assistant Secretary of Ferguson Enterprises, LLC, a Virginia limited liability company (the "Company"), hereby certifies that: i) certain of the Company's facilities in California are doing business as Ferguson Enterprises, LLC, and ii) Randy Cross is Director of Branch Management in California, and iii) that the resolutions adopted by the Company's Board of Directors effective July 31, 2019, duly authorize certain of the Company's officers, including the Assistant Secretary, to designate, and I hereby do so designate Randy Cross as an authorized representative of the Company to act for and on behalf of the Company to prepare and submit bids and proposals to the Company's customers, to enter into contracts, agreements or other documents, and to execute such documents and undertake all such acts as may be deemed in the best interest of the Company, including the execution of bonds and in doing so, to contractually bind the Company. Unless withdrawn sooner, this certification of authorization shall be effective until July

31, 2021.	SON ENTERO	
Dated: 8/20/202	S. COMPAN, P.	FERGUSON ENTERPRISES, LLC
90 40 40 40	SEAT .C	By: Wyl
	PGINIA	Wesley E. Rice, Assistant Secretary
Commonwealth of Vi	rginia)	
City of Newport New) s)	

Sworn to subscribed and acknowledged before me this 20 day of August, 2020, by Wesley E. Rice, personally known to me, in his capacity as Assistant Secretary of Ferguson Enterprises, LLC, a Virginia Company, on behalf of such Company

.

Notary - Casey Mehlhot

My commission expires: July 31, 2022

EXHIBIT "A"

					EXHIBIT "A"						
Section	ltem Code	ltem Desc.	Unit of Measure	Quantity	Reference	Second Renewal Price	Second Renewal Line Total	Second Renewal %	Third Renewal Price	Third Renewal Une Total	Third Renewal %
PE Coiled Pipe	658-58-01-941	PIPE, POLYETHYLENE 2406, 3/4 INCH, IPS, COILED.	fT	130000	Estimated Annual Usage	\$0.4220	\$54,860.00	0%	\$0,5077	\$66,001.00	20%
PE Coiled Pipe	658-58-01-942	PIPE, POLYETHYLENE 2406, 1 INCH, IPS. (PERFORMANCE AND/OR	FT	15000	Estimated Annual Usage	\$0,6660	\$9,990.00	0%	\$0.7949	\$11,923.50	20%
PE Colled Pipe	658-58-01-943	PIPE, POLYETHYLENE 2406, 1-114 INCH, IPS, (PERFORMANCE AND/OR	FŢ	3000	Estimated Annual Usage	\$1.2090	\$3,627.00	0%	\$1.0680	\$3,204.00	-11%
PE Coiled Pipe	658-58-01-945	PIPE, POLYETHYLENE 2406, 2 INCH, IPS, (PERFORMANCE AND/OR	FT	70000	Estimated Annual Usage	\$0.9470	\$66,290,00	0%	\$1,3080	\$91,560.00	38%
PE Stick Pipe	658-58-02-950	PIPE, POLYETHYLENE (PE), 2 INCH. IPS, SOR 11.5, 20140 FT. STICKS (PERFORMANCE	FT	1000	Estimated Annual Usage	\$0.9280	\$928,00	0%	\$1,2910	\$1,291.00	39%
PE Stick Pipe	658-58-02-951	PIPE, POLYETHYLENE(PE), 3 INCH. IP,S SOR 11.5, 40 FT. STICKS. (PERFORMANCE	FT	.500	Estimaled Annual Usag e	\$1.9340	\$967.00	0%	\$2.7260	\$1,363.00	41%
PE Stick Pipe	658-58-02-952	PIPE, POLYETHYLENE (PE), 4 INCH. IPS, SOR 11.5, 40 FT. STICKS.	FT	15000	Estimated Annual Usage	\$3,1360	\$47,040,00	.0%	\$4,4260	\$66,390.00	41%
PE Stick Pipe	658-58-02-953	PIPE, POLYETHYLENE (PE,) 6 INCH. IPS, (PERFORMANCE AND/OR	គ្រ	7000	Estimated Annual Usa ge	\$6.8190	\$47,733.00	0%	\$9.6270	\$67,389.00	41%
PE Stick Pipe	658-58-02-954	PIPE, POLYETHYLENE, (PE), 8 INCH. (PE2406/2708), 8 INCH, IPS, SOR 11.5, 40 FT	FT	1000	Estimated Annual Usage	\$11.6240	\$11,624.00	0%	\$16,4170	\$16,417.00	41%
PE Socket Fusion End Caps	659-27-11-078	CAP, END, SOCK ET, 112 INCH, PE2406, IPS, HEAT FUSIBLE. (PERFORMANCE	EA	30	EstimatedAnnual Usage	\$1.3300	\$39.90	0%	\$1.4000	\$42.00	5%
PE Socket Fusion End Caps	659-27-11-080	CA,P END, SOCKET, 314 INCH, PEZ406, tPS, HEAT FUSIBLE. (PERFORMANCE	ÉA	400	Estimaled Annual Usage	\$1.2500	\$500.00	8%	\$1,2500	\$500.00	0%
PE Socket Fusion End Caps	659-27-11-082	CAP, EN,O SOCKET, 1 INC,H PE2406, IPS, HEAT FUSIBLE. (PERFORMANCE AND/OR	EA	80	Estimated Annual Usag e	\$2.0400	\$163.20	8%	\$2,0400	\$163,20	0%
PE Socket Fusion End Caps	659-27-11084	CAP, END, SOCKET, 1- 114INCH, PE2406 , IPS , HEAT FUSIBLE.	FA	20	Estimated Annual Usage	\$1.6280	\$32,56	4%	\$1.6280	\$32,56	0%
PE Socket Fusion End Caps	659-271- 1086	CAP, END, SOCKET. 2 INCH, PE2406. IPS. HEAT FUSIBLE. (PERFORMANCE ANO/OR	EA	100	Estimated Annual Usage	\$3.0800	\$308,00	4%	\$3.0800	\$308.00	:0%
PE Socket Fusion End Caps	659-27-11088	CAP, ENO, SOCKET, 3 INCH , PE2 406, IPS, HEAT FUSIBLE: [PERFORMANCE AND/OR	EA	10	Estimated Annual Usage	\$9.0120	\$90,12	5%	\$9,0120	\$90.12	0%
PE Butt Fusion End Caps	659-27-12-096	CAP. BUTT FUSION, 4 INCH, IPS. SOR 11.0. PE2406. (PERFORMANCE AND/OR	EA	20	Estimated Annual Usage	\$9,3030	\$186.06	5%	\$9.3030	\$186.06	0%
PE Butt Fusion EndCaps	659-27-12-097	CAP, BUTT FUSION, 6 INCH, IPS, SOR 11 0, PE2406. (PERFORMANCE ANO/OR	EA	20	Estimated Annual Usage	\$31,2400	\$624.80	0%	\$34,7100	\$694.20	11%
PE Socke t Fusion Couplin gs	659-33-46-229	COUPLING, SOCKET FUSION, 1/2 INCH . PE2406, IPS, HEAT FUSIBLE.	EA	10	Estimated Annual Usage	\$0.8140	\$8.14	4%	\$0.8140	\$8.14	0%
PE Socket Fusion Couplings	659-33-46-230	COUPLING, SOCKET FUSION, 314 INCH. PE2406, IPS, HEAT FUSIBLE	EA	2000	Estimated Annual Usage	\$0.8140	\$1,628.00	4%	\$0.8140	\$1,628.00	0%
PE Socket Fusion Couplings	659-33-46-231	COUPLING, SOCKET FUSION, 1 INCH. PE2406, IPS. HEAT FUSIBLE.	EA	100	Estimated Annual Usage	\$1.0470	\$104.70	5%	\$1,0470	\$104.70	0%
PE Socket Fusion Couplings	659-33-46-232	COUPLING, SOCKET FUSION, 1-114 INCH. PE2406. IPS, HEAT FUSIBLE.	EA	75	Estimated Annual Usage	\$1,3370	\$100,28	5%	\$1.3370	\$100.28	0%
PE Socket Fusion Couplings	659-33-46-234	COUPLING, SOCKET FUSION, 2 INCH, PE2406. IPS, HEAT FUSIBLE.	EA	500	EstimatedAnnual Usage	\$1.6280	\$814.00	5%	\$1,6280	\$814.00	0%
PE Electol usion Couplings	659-33-47-238	COUPLING, ELECTROFUSION, 314 INCH, IPS, PE2406. (INNOGAZ NO.	EA	5	Estimated Annual Usage	\$11.4100	\$57.05	0%	\$12.6800	\$63.40	11%
PE Electol usion Couplings	659-33-47-239	COUPLING. ELECTROFUSION,1 INCH, IPS. PE2496. (INNOGAZ NO.	EA	5	Estimated Annual Usage	\$13.0400	\$65.20	0%	\$14,4800	\$72.40	11%
PE Electofusion Couplings	659-33-47-240	ELECTROFUSION, 1-1/4 INCH, IPS, PE2406.	EA	20	Estimated Annual Usage	\$14,1300	\$282.60	0%	\$15,7000	\$314.00	11%
PE Electofusion Couplings	659-33-47-242.	COUPLING, ELECTROFUSION, 2 INCH, IPS, PE2406. (INNOGAZ NO.	EA	50	Estimated Annual Usag e	\$16.3000	\$815.00	0%	\$18,1190	\$905.50	11%
PE Electofusion Couplings	659-33-47-243	COUPLING, ELECTROFUSION. 3 INCH. IPS, PE2406. (INNOGAZ NO.	EA	5	Estimated Annual Usage	\$32,6000	\$163.00	0%	\$36,2200	\$181,10	11%
PE El ectofu sion Coupli ngs	659-33-47-244	COUPLING. ELECTROFUSION, 4 INCH, IPS.PE2406. (INNOGAZ NO.	EA	25	EstimatedAnnual Usage	\$43.4700	\$1,086.75	0%	\$48,3000	\$1,207.50	11%

EXHIBIT "A"

					EXHIBIT "A"						
Section	ltem Code	ltem Desc.	Unit of Measure	Quantity	Reference	Second Renewal Price	Second Renewal Line Total	Second Renewal %	Third Renewal Price	Third Renewal Line Total	Third Renewal %
PE Electofusion Couplings	659-33-47-246	COUPLING, ELECTROFUSION, 6 INCH. IP,S PE2406. [INNOGAZ	EA	25	Estimated Annual Usage	\$106,5000	\$2,662.50	0%	\$118.3300	\$2,958.25	11%
PE Socket Fusion 90 Elbows	659-41-15-929	ELBOW, SOCKET FUSION. 90 DEGREE. 3/4 INCH. PE2406, IPS, HEAT FUSIBLE.	EA	500	Estimated Annual Usage	\$1.6860	\$843.00	5%	\$1,6860	\$843.00	0%
PE Socket Fusion 90 Elbows	659-41-15-930	ELBOW. SOCKET FUSION. 90 DEGREE. 1 INCH, PE2406, IPS, HEAT FUSIBLE.	EA	80	Estimated Annual Usage	\$2.2700	\$181,60	5%	\$2.2700	\$181.60	0%
PE Socket Fusion 90 Elbow's	65 9-41- 15-931	ELBO W. SOCK ET FUSION. 90 DEGR EE, 1-1/4 INCH, PE2406, IPS, HEAT FUSIBLE.	EA	25.	Estimated Annual Usage	\$2.1600	\$54.00	5%	\$2.1600	\$54.00	0%
PE Socket Fusion 90 Elbows	659-41-15-933	ELBOW, SOCKET FUSION. 90 DEGREE, 2 INCH, PE2406, IPS, HEAT FUSIBLE.	ĖA	70	Estimated Annual Us age	\$4.5350	\$317.45	5%	\$4.5350	\$317.45	0%
PE Butt Fusion 90 Elbows	659-41-17-935	DEGREE, 4 INCH, IPS, SOR 11.0, PE2406	EA	25	Estimated Annual Usage	\$11.9200	\$298.00	5%	\$11.9200	\$298.00	0%
PE Butt Fusion 90 Elbows	659-41-17-936	ELBOW, BUTT FUSION, 90 DEGREE, 6 INCH. IPS, SOR 11.0, PE2406.	EΑ	.5	Es timated Annual Usage	\$29.2450	\$146.23	5%	\$29,2450	\$146.23	0%
PE Butt Fusion 45 Elbows	659-41-18-947	45 OEGREE 4 INCH. IPS, SDR 11.0, PE2406.	EA	25	Estima ted Annual Usage	\$13.3200	\$333,00	5%	\$13,3200	\$333.00	0%
PE Butt Fusion 45 Elbows	659-41-18-948	ELBOW, BUTT FUSION, 45 DEGRÉE, 6 INCH, IPS, SDR 11.0, PE2406.	EA	5	Estimated Annual Usage	\$38.3720	\$191.86	5%	\$38,3720	\$191.86	0%
PE Socket Fusion Reducers	659-6509-929	REDUCER, SOCKET FUSION, 3/4 X 1/2 INCH, IP,S PE24 06, HEAT FUSIBLE.	EA	10	EstimatedAnnual Usage	\$2,8000	\$28.00	6%	\$2,8000	\$28,00	0%
PE Socket Fusion Reducers	659-6569-930	REOUCER, SOCKET FUSION, 1 X 3/4 INCH, IPS, PE2406, HEAT FUSIBLE.	EA	100	Estimated Annual Usage	\$2.8000	\$280.00	6%	\$2.8000	\$280.00	0%
PE Sacket Fusion Reducers	659-65-09-931	REDUCER, SOCKET FUSION: 1-1/4 X 3/4 INCH, IPS, PE2406. HEAT FUSIBLE.	EA	S ^c	Estimated Annual Usage	\$4,1300	\$20.65	5%	.\$4.1300	\$20.65	0%
PE Socket Fusion Reducers	659-6509-932	REDUCER, SOCKET FUSION. 1-1/4 X 1 INCH, IPS, PE2406, HEAT FUSIBLE.	EA	:10	Estimated Annual Usage	\$4.1300	\$41.30	5%	\$4.1300	\$41.30	0%
PE Sock et Fusion Reducers	659-6509-934	REDUCER, SOCKET FUSION. 2 X 1 INCH, IP\$, PE2406, HEAT FUSIBLE.	EA	5	Estimated Annual Usage	\$4.5400	\$22.70	5%	\$4.5400	\$22.70	0%
PE Socket Fusion Reducers	659-65-09-935	REDUCER, SOCKET FUSION. 2 X 1 1/4 INCH, IP\$, PE2406:HEAT	EA	15	EstimatedAnnual Usage	\$5.8200	\$87.30	5%	\$5.8200	\$87.30	0%
PE Butt Fusion Reducer	659-65-10-950	REDUCER, BUTT FUSION, 4 X 2 INCH, IPS, SDR 11.0, PE2406. HEAT FUSIBLE.	EA	20	Eslimated Annual Usage	\$19.4480	\$388.96	1,29%	\$19,4480	\$388.96	0%
PE Butt Fu5ion Reducer	659-65-10-954	REDUCER, BUTT FUSION. 6 X 4 INCH, IPS, SOR 11.0, PE2406, HEAT FUSIBLE.	EA	15	Estimated Annual Usage	\$25.6400	\$384.60	.5%	\$25.6400	\$384.60	0%
PE Socket Fusion Tee	659-85-13-275	TEE, SOCKET FUSION, 314 INCH. IPS,PE2406.	ĖA	100	Estimated Annual Usage	\$1.4540	\$145.40	.5%	\$1,4540	\$145,40	0%
PE Socket Fusion Tee	659-85-13-276	TEE. SOCKET FUSIO,N 1 INCH, PS, PE2406. (PERFORMANCE AND/OR	EA	25	Estimated Annual Usage	\$2,1600	\$54,00	6%	\$2,1600	\$54.00	0%
PE Socket Fusion Tee	659-85-13-277	TEE, SOCKET FUSION. 1-1/4 INCH ,IPS,P E2406. (PERFORMANCE AND/OR	EA	15	Estimated Annual Usage	\$2,3900	\$35.85	6%	\$2,3900	\$35,85	0%
PE Socke t Fusion Tee	659-85-13-279	TEE. SOCKET FUSION, 2 INCH. IPS, PE2406. (PERFORMANCE AND/OR	EA	50	Estimated Annual Usage	\$4,8600	\$243.00	7%	\$4,8600	\$243.00	-0%
PE Socket Fusion Tapping Tee	659-85-14-283	TEE, TAPPING, 1-114 X 3/4 INCH, SOCKET FUSION, IPS. SOR 11.0. PE2406.	EA	10	Estimated Annual Usage	\$6.8600	\$68.60	14%	\$6.8600	\$68,60	0%
P.E. S ocket Fusion Tap ping Tee	659-85-14-284	TEE, TAPPING, 1-114 X 1 IN C H. SOCKET FUSION, IPS, SOR 11.0, PE2406.	EA	10	Estimated Annual Usage	\$7.1000	\$71.00	18%	\$7.1000	\$71.00	0%
PE Socket Fusion Tapping Tee	659-85-14-290	TEE TAPPING, 2 X 3/4 INCH, SOCKET FUSTION, IPS, SOR 11 0 PE2406 (PERFOR	EA	3000	Estimated Annual Usage	\$6,8600	\$20,580.00	14%	\$6.8600	\$20,580.00	0%
PE So cket Fusion Tapping Tee	659-85-14-291	TEE, TAPPING, 2 X 1 I N CH , SOC KET FUSION, IPS, SOR 11.0, PE2406.	EΑ	500	Estimated Annual Usage	\$7.1000	\$3,550.00	-2%	\$7,1000	\$3,550.00	0%
PE Socket Fusion Tapping Tee	659-85-14-292	TEE. TAPPING, 2 X 1-114 INC H, SOCKET FUSION, IPS, SOR 11.0, PE2406 .	EA	30	Estimated Annual Usage	\$8.6100	\$258,30	25%	\$8.6100	\$258.30	0%
PE Sock et Fusion Tapping Tee	659-85-14-293	TEE, TAPPING, 3 X 3/4 I N CH. SOCKET FUSION, IPS, SOR 11 0, PE2406 . (PERFOR	EA	5	Estimated Annual Usage	\$6.8600	\$34.30	14%	\$6.8600	\$34,30	0%
PE Socket Fusion Tapping Tee	659-85-14-294	TEE, TAPPING. 3 X 1 INCH. SOCKET FUSION, IPS, 50R 1EX, PE2406. (PERFORMANCE	EA	5	Estimated Annual Usage	\$7,1000	\$35.50	-15%	\$7.1000	\$35,50	0%

EXHIBIT "A"

	EXHIBIT "A"										
Section	Item Code	ltem Desc.	Unit of Measure	Quantity	Reference	Second Renewal Price	Second Renewal Line Total	Second Renewal %	Third Renewal Price	Third Renewal Line Total	Third Renewal %
PE Socke t Fusion Tapping Tee	659-85-14-296	TEE, TAPPING, 4 X 3/4 INCH. SOCKET FUSION. IPS, SOR 11.0, PE2496.	EA	150	Estimated Annual Usage	\$6.8600	\$1,029.00	14%	\$6,8600	\$1,029.00	-0%
PE So cket Fusion Tapping Tee	659-85-14-297	TEE, TAPPING, 4 X 1 INCH, SOCKET FUSION, tPS, SOR 11.0, PE 2406.	EA	10	Estimated Annual Usage	\$7,1000	\$71.00	-2%	\$7,1000	\$71.00	0%
PE Socket Fusion Tapping Tee	659-85-14-298	TEE. TAPPING, 4 X 1-1/4 INCH, SOCKET FUSION, IPS, SOR 11.0, PE2406.	EA	5	Estimated Annual Usage	\$8.6100	\$43.05	25%	\$8.6100	\$43.05	0%
PE Socket Fusion Tapping Tee	659-85-14-302	TEE. TAPPING, 6 X 3/4 INCH, SOCKET FUSION, IPS, SOR 11 0. PE2406.	EA	10	Estimated Annual Usage	\$6.8600	\$68.60	14%	\$6.8600	\$68.60	0%
PE Socket Fusion Tapping Tee	659-85-14-304	TEE. TAPPING, 6 X 1-114 INCH. SOCKET FUSION. IPS, SOR 11.0, PE2406.	EA	.5	Estimated Annual Usage	\$8.6100	\$43.05	25%	\$8,6100	\$43.05	0%
PE Butt Fusion (Hi Volume) Tapping Tee	659-85-16-289	TE,E TAPPING, 2 X 2 INCH, BF, HIGH VOLUME, BUTT FUSION. IPS, SOR 11.0,	EA	5	Estimated Annual Usage	\$65,7000	\$328,50	7%	\$70.6260	\$353.13	7%
PE But t Fusi on (HI Volume) Tapping Tee	659-85-16-291	TEE, TAPPING, 65M. 4 X 2 INCH, BF. HIGH VOLUME, BUTT FUSION, IPS , SOR	EA	5	Estimated Annual Usage	\$65.7000	\$328.50	7%	\$70.6260	\$353.13	7%
PE Butt Fusion (Hi Volume) Tapping Tee	659-85-16-292	TEE, TAPPING, 6 X 2 INCH, BF, HIGH VOLUME, BUTT FUSION. IPS, SOR 11.0,	EA	5	Estimated Annual Usage	\$65.7000	\$328,50	7%	\$70,6260	\$353.13	7%
PE Butt Fusion Tee	659-85-17-308	TEE, BUTT FUSION, 4 INCH, IPS, SOR 11111.5, PE2406. (PERFORMANCE AND/OR	EA	30	Estimated Annual Usage	\$13.4900	\$404.70	-17%	\$18,6250	\$558.75	38%
PE Butt Fusion Tee	659-85-17-311	TEE, BUTT FUSION. 6 INCH. IPS, SOR 11.0, PE2406. (PERFORMANCE AND/OR	EA	20	Estimated Annual Usage	\$33.4900	\$669.80	-17%	\$37,2100	\$744.20	11%
Ball Valves, Polyethylene(PE)	670-70-04-979	VALVE, BALL, POLYETHYLENE, 1- 114" IPS F,P. KEROTEST NO.	EA	15	Estimated Annual Usage	\$104,6600	\$1,569.90	6%	\$116.2800	\$1,744.20	11%
Ball Valves, Polyethylene (PE)	670-70-04-980	VALVE, BALL, POLYETHYLENE, 2 INCH. (NORDSTROM NO. 82111:	EA	.40	Estimated Annual Usage	\$148.8370	\$5,953.48	8%	\$186.0800	\$7,443.20	25%
Ball Valves, Polyethylene (PE)	670-70-04-982	VALVE, BALL, POLYETHYLENE, 4 INCH. (KEROTESTNO, 77311850:	EA	30	Estimated Annual Usage	\$237,4200	\$7,122.60	0%	\$263.8000	\$7,914.00	11%
Ball Valves, Polyethylene (PE)	670-70-04-984	VALVE. BALL, POLYETHYLENE.6 INCH. (KEROT EST NO. 77311XXX:	EA	10	Estimated Annual Usage	\$691.8600	\$6,918.60	29%	\$786.7300	\$7,867.30	14%